EEMERERNESRAEMER

C—5—6

ERER X

pi::

i

XEED

HeERIE S (BB D)

)i

C—5—6 ERERMRAREZEHILERELERX(E
EHS)
RREERBREVEROREHER  RIFGEIRERHE

REBMEL-EBEDS LITORERDENH

I3

A

wnER ) ,
128% WAn  t=66m [
258K Wbnm  L=125m d e
3SHH Wedn L= 80m X
4SEH Won  L=105m
55 We6n  L=192m
6 SHH Wedn]  L=160m
7S WG, L= T0m ,
8 BB W-2m| L=260m \
RE EH
Eith
17095 A-10430n2 EL=2.0~3.0n
27095 A= 1645n2 EL=2.0m
37095 A= 7425m2 EL=2.0~3.0n
a7nvh A= 935m2 EL=2 5m
570v% A= 563m2 EL=2. 5m
67095 A= 1184n2 EL=3.0m
77095 A= 430m2 EL=3.3m
R L]
EEEEEL = Mg
HEEE A= 2200m2 EL=6.Om —
-
—
aERe
i #RETHR

/i
1/

\




